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! JavaScript Object Notation



JSON of

SES ALO|Of| "key": "value" H22 FO|ELL,
(OFR|8f ot F{oll= el BIt 22 H QFEICH)

{

"excel": "./sample.xlsx",
"data": "A26:H36",
"sheet": "KOVO",

"width": "5cm"

}
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\newif\1ifkkk
\kkkfalse
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{

"excel": "./sample.x1lsx",
"data": "A26:H36",

ks

\fi

output: 0-sample.xlsx.tex
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\1fkkk

{

"excel": "./sample.xlsx",
"data": "A26:H36",
"width": "5cm"

ks

\fi

output: 1-sample.xlsx.tex
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\1fkkk
{
"excel": "./sample.xlsx",
"data": "A26:H36",
"export": "selected-sheet-table.tex"
ks
\fi

output: 2-selected-sheet-table.tex
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{

"excel": "./sample.x1lsx",
"data": "B3:Fl10",
"width": "5cm",

"sheet": "KOVO",

"export": "selected-sheet-table.tex"
ks

\fi

output: 3-selected-sheet-table.tex
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transposeS "True"& AA5IH HA
\1ifkkk
{
"excel": "./sample.xlsx",

"data": "A26:H36",

"width": "5cm",

"transpose": "True",
"export": "transposed-table.tex"

3
\fi

output: 4-transposed-table.tex
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\1fkkk

{

"excel": "./sample.x1lsx",

"width": "5cm",

"sheet": "KOVO",

"export": "selected-sheet-table.tex"
i

\fi

output: 5-selected-sheet-table.tex
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verticalline &£/48 "True"= AASHC}

\1ifkkk

{

"excel": "./sample.xlsx",
"width": "5cm",

"sheet": "KOVO",

"verticalline": "True",

"export": "selected-sheet-table.tex"
}

\fi

output: 6-selected-sheet-table.tex
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